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> MPa| m | m | m | m | MPa| MPa | MPa | MPa MPa | MPa | MPa | MPa | WM/ | (Ml |
023 = 180 180 0.51 0.65 0.66 - - 0.18 0.20 0.22 0.23 0.28 0.31 0.34 0.39 45 0.15 200
054 = 180 180 0.56 0.75 0.80 0.80 = 0.41 0.45 0.50 0.54 0.64 0.70 0.79 0.91 50 0.15 200
124 - 180 180 0.61 0.82 0.88 0.88 - 0.93 1.05 1.15 1.24 1.48 1.62 1.81 2.09 75 0.30 150
544 173 180 180 0.80 1.14 1.32 1.40 3.56 4.11 4.60 5.04 5.44 6.50 712 7.96 9.19 0 0.50 100
1087 174 180 180 0.99 1.37 1.60 1.70 712 8.22 9.19 | 10.1 10.9 13.0 14.2 15.9 18.4 210 0.60 100
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